Circuit Training —Basic Antiderivatives NAME

Work the first problem in the space provided. Circle your answer. Find your answer among the choices. Put #2 in the problem
blank. Work that question and proceed in this manner until finished. Make sure you clearly communicate in each cell how you are

getting your answer.©

Answer: 4In |X|+i6+C
3x

#1 _[Zxdx

Answer: gx8/5 +C

# I%dx

Answer: X° + X% +C

1
# —dx
jx5

Answer: %X?’/Z +C

# .[%/X_de

Answer: __)(4 +C

# I(S—cosx)dx

Answer: x?+C
# _[5cos xdx

Answer: %Xg +C

# _[5sin X dx

Answer: %Xg +C

# J.sec2 X dx

Answer: %Xz —-e*+C

# Ix5’3 dx

2
Answer: ——-+ C

X
# I(secxtanx—sinx)dx

Answer: gXSIB +C

# I&dx

Answer: —5c0sXx+C
# IZeX dx
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Answer: 5sinx +C
# J' 3x2 dx

Answer: tanx+C
# J. X3/5 dx

Answer: 5Xx—sinx+C

 Jee)o

Answer: X +C

#_ J.xsdx

Answer: 2e*+C
# J.(sz +COS x)dx

Answer: SECX+C0SX+C

ffc-

Answer: §X5/3 +C

Answer: X+ C0sSX + C

> # J.3X8 dx
#_ st(x —1)dx
Answer: —LA’ +C Answer: X° +sinx+C
o # I(l—sin X)dx
—5-7)
# — —— |dx
X x!

Answer: %XZ —In|x|+C

#_ I(3x2 + 2x)dx

3
Answer: X° —EXZ +C

©OBlack River Math, Vicki Carter 2019




